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General Instructions :

(1) There are a total of 26 questions and five sections in the question paper.
All questions are compulsory.

(it) Section A contains questions number 1 to 5, Very Short Answer Type Questions of
one mark each.

(1it) Section B contains questions number 6 to 10, Short Answer Type I Questions of two
marks each.

(iv) Section C contains questions number 11 to 22, Short Answer Type II Questions of
three marks each.

(v) Section D contains question number 23, Value Based Question of four marks.

(vi) Section E contains questions number 24 to 26, Long Answer Type questions of five
marks each.

(vit) There is no overall choice in the question paper, however, an internal choice is
provided in one question of two marks, one question of three marks and all three
questions of five marks. An examinee is to attempt any one of the questions out of

the two given in the question paper with the same question number.
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Qusg -
SECTION - A

1. UE AR § fqEe o1 o S e © 2 1

State the purpose for carrying emasculation in breeding

experiments.

2. DNA-3TT &l §&=H & aR | 3fdq =miw <1 g fafay 1

Write Erwin Chargaff’s observation with respect to DNA

molecule structure.

3. Tordl = S ¥ Ueital Tifaehal § 8F arel 9 aReaH fhges! Gohd od 1
g2

State what is a large change in allele frequency in a sample of a

new population indicative of ?

o NS

4. DNA T8 &1 & AU T SR Sifven fog yor ‘wem’ @ ot 1
T?

How 1s a bacterial cell made ‘competent’ to take up DNA ?

5. HLA & STCl B 98 (T 9e) i R Herd ? 1

Why are snow-leopards not found in Kerala forests ?
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Qe -9
SECTION - B

6. YUIT 3Tee § ookt 1 oI ek A HIGI H 3Tes i fafy= srereensti
1 AN €9 H Y FAET |

List in sequence the stages of oogenesis in a human female from
its foetal life to birth.

7. Tawg & ded d eifdq 3t T ois & fommi # ofa¥ JaEu |

How did Darwin and de Vries differ in their views on Evolution ?

8. () =Y HI %M et AvTaTe HT AR A9 AL
(i) 39 IFT I YW & 7 fAC M a1 *lE A @™ fafea |
Jrqan

(i) AIDS f&q %o gar &2

(i) 39 I & FHH 1 THU fHg THR 21 € ?

(1) Write the scientific name of the vector that is responsible for

the spread of dengue.

(11) Write any two precautions that must be taken to check the
spread of this disease.

OR
(1) Write the cause of AIDS.

(11) How does the transmission of the disease causing agent
occur ?
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9. T &I T 3= SRS el & I fafey, wy & 7% fafire aeror o
SART |

Write two high yielding varieties of wheat along with their
characteristic features.

[Nl a}

10. daRT for frefafed sita frg ger amaqul amr okt o aeed w2
T € ?
G) S
(i) =fEm
(111) HIe]
(iv) Sell § 9 ST 9Tl Jiioredsh |

How do the following organisms overcome the stressful external
conditions ?

(1) Bacteria

(i1) Snail

(111) Bear

(iv) Zooplankton in lakes.

@Ug - T
SECTION - C

11. J&U SAgaats 9edl & e | FeAfafad & AH aRy
(i) I S STSRE & HR W whe ¥ qa™ @l 7 |
(i) o URd S ST GREM T &1 37 Tal & e o Fas Fefd |
(iii) 3% IRTaa Yot 1 F fiR feord fafim yar =7 S|

57 (B) 5 P.T.O.



AT

N o N (a

Ueh gt fgaltsrast qur o fafus v =61 = 37 *r 9fgd adEe 3

Name the following that form the parts of a typical angiosperm

ovule :

(1) The stalk that attaches it to the placenta in the ovary.

(11) The layers that protect it. The mass of tissue enclosed by
these layers.

(111) The different types of cells present in its mature embryo sac.

OR
List the different parts of a typical dicotyledonous embryo along
with their functions.

12. (a) P SIS ol CeHH TSl el Sl © iR o= ot TR-Ueofat, |2 3
(b) Tr=fafaa & § ®F Teea a1 Teafe i © ¢
(i) w (i) T
(iii) TR (iv) TEehT

(a) Why are some seeds called albuminous and others

non-albuminous ?

(b) Which one of the following are albuminous or exalbuminous :
(1) Pea (11) Wheat
(111) Groundnut (iv) Maize

13. () W=d A 39 YA o folw 7eX & drefi § fohae agd U1 SvhAl 3
Sl A1 ?
(i) TET TS SR T BT 2
(iii) TaqarEt faRioesl & < el WY, et U=ea A Iega fwan
21N

57 (B) 6



14.

15.

16.

17.
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(1 How many true - breeding lines did Mendel select in pea
plants for his experiments ?
(11) What is a true - breeding line ?

(111) Give two examples of contrasting traits studied by Mendel.

ABO %R 78 TH 3758 ITEA0 § Sl AN o Heaord! e o QI STIER0
TS T 1 N STIHON bl I=1 HIST T T&SF i AT HIFST |

ABO blood groups are a good examples that show two deviations

of Mendelian pattern of inheritance. Write the two deviations
seen giving explanation for each.

qHdl 4 fam-faior st sare S |

Explain sex - determination in humans.

() IHIfETT & Saa-9% & SRE 9T M 9rel §f R & M

13U | THg TSl & iR Tierifegd &1 fu=m 2ar & 2

(i) 39 UE(El o RO 399 T i AH Fqsy, q91 far@ae fo a8 I
forg Yeh GTd BT ¢ |

(1) Name the two hosts in the life cycle of Plasmodium. In which
one does fertilisation of Plasmodium occur ?

(11) Name the disease caused by this parasite and how is it
transmitted ?

fedqd & WATHR ITIR I Fil TS Bidl & 2 SHRSA] HIfT |

Why is primary treatment of sewage required ? Explain.
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18.

19.

20.

21.

() el TS DNA 9 ¥R IR fofan T2 gfshan &1 e
IS |

(i) 3¥ TIR HE 91 dJ1E 1 7 IdL |

(1 How was the first recombinant DNA constructed ? Explain

the process.

(11) Who constructed it ?

Trgeh-Ffaque diel o1 IcaTeA Sid Gl Teh Fad SIH1-Tg=m STIuan
1 Bt %99 U 39 fh9 YR g fomam w2

One of the best known applications of biotechnology is the

production of pest resistant plants. How is this achieved in
Bt Cotton ?

Ife =g =afad 9 | & fFgt et A @ difeqd &, O o1 gqe =

SUER fHAT ST Heha1 €7 Teh ISRV <d U S9h! AT hifaT |

If a person is born with a hereditary disease, can a corrective

therapy be taken ? Explain with an example.

3 IR Afafshar 1 A sarst fS9d SH1 € SRSl ol o1y BT §

Y qREE SIf9fhan st SAmea 9Ieu-Siq Ha¥ 1 3B od g HITY
forad ge-faemg of ffea ©1

Name the interaction where both the species benefit. Explain

this interaction with plant animal relationship that involves
co-evolution.
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N NN

22, fFdl Sa-fm ¥ Sae-Tope F8 a1 82 - W R 9t 3
TGk YT ahi AT iU |

How is an algal bloom formed in a water body ? Explain the

affect it has on the water body.

Qs - ¥

SECTION - D

23. (a) ‘AN’ H WHR &I WE ¥ g T Hall g1 39w @d T 4
AN HY MR T 3H IS F T I FR REGH i P aET

(b) T TS B AN FY FI @@ o & forw @ IR fafaw |

(a) The Government has hailed the practice of Yoga. Your
school is organising a yoga camp. Make a list of four benefits
of this practice.

(b) Write two slogans for promoting yoga camp in your school.

GUE - F
SECTION - E

24. 919 GNI TATG Grefl § 9 S a1t fafire stqge o fafae ) fedit@ 5
Teh STeitd 418 991 Teh Lo WY o ST ST fSTd TRToT 9 g
TR |
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25.

AT

o

(a) AMd | ANd 9 o Ygal fod 9 Tkt 35 e a& | fHefarad
LAl & A SRy

o g

() Yed feT ¥ st ured faq e,

N o N

(i) ®3 fe7 9 e diced faq o, qo

(iii) Yged T § T 3TgEHd fod |

T5gd 1o 9§ Tt 3TSEEd Tqd doh BIF ATl URadHi ol =l hifeld |
(b) 37 fyegedt T & W JAET Sl 39 =5k i YHIfad I ¢ |

Write the special adaptations that are found in plants pollinated

by wind. Give an example of an aquatic plant pollinated by wind
and a land plant pollinated by wind.

OR

(a) From day 1 to day 28 of the menstrual cycle in humans,
name the phases from :

(1) day 1 to day 5

(11) day 6 to day 14

(111) day 15 to day 28,

Comment on changes that occur from day 15 to day 28.

(b) Name the pituitary harmones that influence this cycle.

OTehehaichdl H ST{I@H ohi JfhaT Tl ST HIfST |
AYdT

TS IRIRET 3R St fasma & fae ymmr & &9 § &g &
A T 27 ST IS0 1 G ¥ SATEAT FHifSrT |
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Explain the process of transcription in Prokaryotes.

OR

How does comparative anatomy and morphology act as an

evidence for Evolution ? Explain with the help of suitable

examples.

26. (1)

(i)

()

(b)
@)

(i)

(b)

57 (B)

it SErEHi arel gaarEl § 98- W 9uie & gfg-Ued S g
RIS |

39 YR H Jfg 9 I el 9% 1 FhR FaeU |

AT

SeRHt STIHATT T U HifeT |

T AR fEdas Ta-3ThAv § 3 JarEt |

Describe growth pattern of a population growing in a habitat

with limited resources.

Name the type of curve that is formed for this kind of growth.
OR

Describe the Hydrarch succession.

Differentiate between primary and secondary succession in
water.
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